



Prior Learning:



6 times tables

I can recall facts from my 7 times tables.

I feel

Answer each sum:

a) $6 \times 2 =$

12

g) $6 \times 4 =$

24

b) $6 \times 5 =$

30

h) $6 \times 10 =$

60

c) $6 \times 1 =$

6

i) $6 \times 7 =$

42

d) $6 \times 9 =$

54

j) $6 \times 11 =$

66

e) $6 \times 3 =$

18

k) $6 \times 8 =$

48

f) $6 \times 12 =$

72

l) $6 \times 6 =$

36

Prior Learning:



7 times tables

I can recall facts from my 4 times tables.

I feel

Answer each sum:

a) $7 \times 2 =$

g) $7 \times 4 =$

b) $7 \times 7 =$

h) $7 \times 1 =$

c) $7 \times 10 =$

i) $7 \times 5 =$

d) $7 \times 9 =$

j) $7 \times 11 =$

e) $7 \times 6 =$

k) $7 \times 3 =$

f) $7 \times 12 =$

l) $7 \times 8 =$

Prior Learning:



9 times tables

I can recall facts from my 9 times tables.

I feel

Answer each sum:

a) $9 \times 5 =$

g) $9 \times 4 =$

b) $9 \times 7 =$

h) $9 \times 10 =$

c) $9 \times 1 =$

i) $9 \times 8 =$

d) $9 \times 3 =$

j) $9 \times 11 =$

e) $9 \times 6 =$

k) $9 \times 9 =$

f) $9 \times 2 =$

l) $9 \times 12 =$

Prior Learning:



11 times tables

I can recall facts from my 11 times tables.

I feel

Answer each sum:

a) $11 \times 1 =$

g) $11 \times 6 =$

b) $11 \times 8 =$

h) $11 \times 12 =$

c) $11 \times 11 =$

i) $11 \times 3 =$

d) $11 \times 9 =$

j) $11 \times 7 =$

e) $11 \times 4 =$

k) $11 \times 2 =$

f) $11 \times 10 =$

l) $11 \times 5 =$

Prior Learning:



12 times tables

I can recall facts from my 12 times tables.

I feel

Answer each sum:

g) $12 \times 5 =$

g) $12 \times 2 =$

h) $12 \times 7 =$

h) $12 \times 1 =$

i) $12 \times 11 =$

i) $12 \times 4 =$

j) $12 \times 3 =$

j) $12 \times 10 =$

k) $12 \times 6 =$

k) $12 \times 9 =$

l) $12 \times 12 =$

l) $12 \times 8 =$

Prior Learning:



times tables

I show I am fluent with my 6, 7, 9, 11 and 12 times tables.

I feel

Answer each sum:

1) $6 \times 5 =$

2) $7 \times 2 =$

3) $11 \times 4 =$

4) $6 \times 8 =$

5) $9 \times 3 =$

6) $12 \times 5 =$

7) $11 \times 7 =$

8) $9 \times 2 =$

9) $12 \times 6 =$

10) $7 \times 7 =$

11) $9 \times 6 =$

12) $11 \times 10 =$

13) $9 \times 9 =$

14) $6 \times 11 =$

15) $12 \times 10 =$

16) $7 \times 3 =$

17) $9 \times 5 =$

18) $7 \times 8 =$

19) $6 \times 6 =$

20) $12 \times 3 =$

21) $11 \times 11 =$

22) $7 \times 5 =$

23) $9 \times 8 =$

24) $6 \times 2 =$

25) $12 \times 9 =$